Triangle Congruence Practice - SSS and SAS

1. Which of the following examples does NOT show SSS congruece?
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2. Which of the followmq does NOT show SAS congruence’?
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2. Determive if you can use SSS or SAS +o prove the pairs of triavgles below congruent. If it does
not fit one of those postulates, write “neither.”
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4. Givew the information, determine which postulate you can use to prove the triavgles congruewt.

a. Given: D is the widpoint of BC. b. Given: AB || CD.
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ABAD =a by AAPE =a by
¢. Given: Cis the midpoint of AE. D. Givew AP is bisecting LBAC .
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Challenge Section, TEST PREP:
5. What additional information is needed +o prove.... ? D
o, aABC =aCPE SSS7?
If is congruent to then that wonld meet the
criteria for SSS.
A —fp——
b. aABC 2aCPE SAS? % D
If is congruent fo then that wonld meet the
eriteria for SAS.
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